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Question Number : 1 Question Id : 70819117764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819158441, Both A and R are correct and R is the correct explanation of A

70819158442, Both A and R are correct but R is NOT the correct r_-xplanation of A

70819158443. A is correct but R is not correct

70819158444,

A is not correct but R is correct

Question Number : 1 Question Id : 70819117764 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



wae 151 5 i wieg ; @5 Rgfe A S OGRS R A ATl 91 (20 |
ffe A: 92 A 9= B T #5035 @32 % A OF B T ©F S|

F@ R : 1209 ©T WF qONHT @oFF GF T AR

M;R, = M,R,

Options :

20819158441, A T R TABE WF &F R, A T &7 =0

20819158447, A TF R TG @5 7% R, AT W% 0 74|

70819158443, A 97 % R 793 |

70819158444, A T9F 8 R ©7

Question Number : 2 Question Id : 70819117765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - 11 :

List - 1 List - 11
(a) h (Planck’s constant) (i) [MLT 1]
(b) E (kinetic energy) i MLETT
() 'V (electric potential) (iii) ML2T-3

d P (linear momentum iv frir-1r-3
(

Choose the correct answer from the options given below :
Options :
70819158445, (a) — (1), (b) — (ii), (¢) — (iv), (d) — (iii)

20819158446, (@ — (iil), (b) — (iv), (c) — (ii), (d) — (i)

70819158447 (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)



70819158448, (@) —= (i), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819117765 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
wiferst - 1 9 twe oiferst - 11 fcamn

sife st - 1 sifest - 11
(a) h (2= F4) i) [MLT™
(b) E(sfe-=fF) (i) [ML2T" Y
(c) V (gies &=a) (i) [ML2T-2
(d) P (@Rs @@) (iv) [ML21-1T-3

T4 [ A9 WE Ueq 5 34|
Options :
70819158445, (@) — (i), (b) = (ii), (c) — (iv), (d) — (iii)

20819158446, (@ — (i), (b) = (iv), (€) — (ii), (d) — (i)

70819158447 (a) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819158448, (@) — (iii), (b) — (ii), () — (iv), (d) — (i)

Question Number : 3 Question Id : 70819117766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 2 s, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

4 7
70819158449, 16 m/s

70819158450, T ms ?



70819158451, 7-8 ms™ =

o i oFi i
70819158452, 27 ms =

Question Number : 3 Question Id : 70819117766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E @B 2 m A W (TAFA REIE 2 5 W, (WERHIA A S O AW F41 AeH©
T F @2

Options:

4 3
70819158449, 16 m/s

70819158450, T ms ?

70819158451, -8 ms™ =

a3 a
70819158452, 27 ms =

Question Number : 4 Question Id : 70819117767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is

Options :

70819158453, 0-6 €M



70819158454, 184 cm

70819158455, 148 cm

70819158456, 10 ¢m

Question Number : 4 Question Id : 70819117767 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T BIES T I AT FACE | FGEAD A 6 om | A AL FOAITF 504 Hz | SERE
TR w3 B 336 m/s | FBA @E NS e G S T3 (7S e wie | @few sew
T T, TAEE 0TS (TS AT T ;

Options :

70819158453, 0-0 €M

70819158454, 184 cm

70819158455, 148 cm

70819158456, 1> c¢m

Question Number : 5 Question Id : 70819117768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e I I I T e
AB +AC + AD + AE + AF + AG + AH,

. — s A M
if, AO=2i+3 -4k

A B
I %
G D
F E
Options :
.z:_ . _z._._ r} .__,:.
70819158457, 101124 j+32k
70819158458, — 16124 j+32k
70819158459, 16124 j+32k
. A N _z.;_ R _,?
70819158460, 101124732k

Question Number : 5 Question Id : 70819117768 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

rer A S - e |

T §E4 < SByE ABCDEFGHT AB+AC + AD + AE+ AF + AG + AH 3 @ [ 29, 3

— A A A
AO=21+3)-4k 1

Options :



70819158457, 101124 j+32k

70819158458, —161 24 j+32k

70819158459, 16124 j+32k

e i . -’1_ . A
70819158460, 101 +247 32k

Question Number : 6 Question Id : 70819117769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are rc-volvmg round the earth at hoight
of 600 km and 1600 km respectively.

If T_ﬁi and TB are the time pE‘.‘I‘if}dS of Aand B respectivel}-' then the value of TB—TA :

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options :
3
70819158461, 1-33x 107 s

4 2 3
70819158462, +24% 107 s

7
70819158463, +-24 X107 s

2
70819158464, -39 ¥ 107 s



Question Number : 6 Question Id : 70819117769 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

600 km T 1600 km S5TS T 200 kg TF 400 kg T 75 T497 A T B 7 4437 e
gleerakr ey

3 T, TF Ty FTT A TF B T *REFE 27 (007 Ty, —T, T T

(=T, <jf@iT AT ¢ 6400 km, 4RFT &1 = 6x 102 kg)

Options :
3
70819158461, 1-:33x 107 s

y ; 3
70819158462, +24x 107 s

Wi
70819158463, +:24x 107 s

2
70819158464, J-33 ¥ 107 s

Question Number : 7 Question Id : 70819117770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819158465, ~ U2 A
70819158466, ~ U043 A
70819158467, ~ 086 A
70819158468, ~ 12 A

Question Number : 7 Question Id : 70819117770 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X W Y Rea &S <1 5V T @R W@ 30 2Rl 4R @R D, WF D, T TR Rl
(silicon) TA'T| (ABRIBIA AT 441 e “(fwre fwarae F41 A0z (@R 4 a0 X e
TeEr (Z ©R |

Dy 100
[:,.JI AAN
D,

58)
Il::', ANA
XY

Options :



~f3 A

70819158465,
70819158466, ~ V43 A
70819158467, ~ 086 A
70819158468, ~ 12 4

Question Number : 8 Question Id : 70819117771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement II : The side band frequoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819158469. Both Statement I and Statement 11 are true

70819158470. Both Statement | and Statement 11 are false

70819158471 Statement 1 is true but Statement 1I is false

70819158472. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819117771 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sf& 1 : 1 MHz T 951 I%F T4 oW F14494 a4 2 kHz T 9B *FF 7w (speech signal) T1929
F9 (T ATFELA AN AT #A5rad4 kHz |

% 11 *rf+54 (side band) FF 1002 kHz 1% 998 kHz |
TS e e, e A9ET 44 wE Ted e 39
Options :

70819158460, B1® 1'9TF Bf& 11 TGZ o1

70819158470, B1® 1 7 Bf& 11 FamE ey

70819158471, '@ 170 @ ¥ 11 fw

70819158472, 1@ 1 & Bf& 11 37|

Question Number : 9 Question Id : 70819117772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819158473, Both A and R are true and R is the correct explanation of A

20819158474. Both A and R are true but R is NOT the correct explanation of A

70819158475. A is true but R is false

70819158476. A is false but R is true



Question Number : 9 Question Id : 70819117772 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS 551 51 il WE : 5% e A IF G F1e9l R A A 47 (2E |

fegfs A : oo AR« «uE we @G T 4 7, (@R ST afese [ 73 T2
F@ R : 97 99 FA9, 747 (7T g #1A |

TS 13 TeT W, ToR e 4 WE $Ed 59 341

Options:

20819158473, A T1F R TAGIR 6T SF R, AT 8% =01 21

70819158474, A TF R TCAGIZ 751 7 R, A 997 Imam 7241

70819158475, A 7 8 R =

70819158476, A == % R 771

Question Number : 10 Question Id : 70819117773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= o« respectively for the given circuit is :

51} 5}

M

11} 4 1)

Options :
18E SE

70819158477, 22 18



'5_E 18E
70819158478, 18 55

106 5
70819158479, - 18

5E 10E

70819158480, 18 33

Question Number : 10 Question Id : 70819117773 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
72 TGCHTS t =0 ATTS O t= oo TG @gIe (i) o Fan)

5 () 510

L
Options :
18E SE
70819158477, 22 18
5E 18E

70819158478, 18 55

106 SE

70819158479, - 18

'5E 10E

70819158480, 18 33



Question Number : 11 Question Id : 70819117774 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first Iinear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819158481. 1.64 mm
70819158482, U-90 mm

70819158483, U-82 mm

70819158484, 1-80 mm

Question Number : 11 Question Id : 70819117774 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

a5 F-%4 55 1 mm WF e FFQ 100 O Rl @A F-159 T TGO (between the
jaws) GTF T A, (TG JEFA (FFAT FURT, 5F (@9 (reference line) 8 T4 TG AT
(A T-5T%A 4@ wT @4 71 20, JEFE GFEd 72 191 6% (@44 OIS FieTe 38 W (A4 5o
o T =BT (7l Y| ST Y 7T

Options :

70819158487, 164 mm

70819158482, -0 mm

70819158483, U-82 mm



70819158484, S0 MM

Question Number : 12 Question Id : 70819117775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After
ﬁp
this, their de Broglie wavelengths are A, and A, respectively. The ratio -~ is:
(i)

Options:

70819158485, 2.8

70819158486.

=]
oo

70819158487.

70819158488, -8

Question Number : 12 Question Id : 70819117775 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7 TS [ OB o-FT TF OB A5 TF ¢F 200 V T TeAred TR |WigE 39 (T TWe

e A
i}

Options:

70819158485, 2.8

70819158486, ©



70819158487, /-8

70819158488, -8

Question Number : 13 Question Id : 70819117776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iig_ht sOUrces having intensity in the ratio 2x producr_- an interference pattern.

| ..
The ratio 222 T il be :
max | min
Options :
2y
D]

70819158489, =¥ 1

70819158490.

+ 2x

70819158491, * 11

o
v2x

70819158492, **1

]

Question Number : 13 Question Id : 70819117776 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T ~ Lo = Imi
GGG hmmjﬁ'ﬂfﬂ@ (o5 T3 ﬂﬁwmmﬁ A TPl ll]mn

max ' min

77 ;

Options :



70819158489, ¥ *1

70819158490, 2**1

70819158491, * 11

P
v 2x

70819158492, X1

]

Question Number : 14 Question Id : 70819117777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :
Options:
u+to

70819158493, 2

[ I |
70819158494, 2

III’2 | HE

V2
70819158495, 2

[ 2 2

(o= —u*

V2
70819158496. -



Question Number : 14 Question Id : 70819117777 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T A S G G (@ANCA GBI 0 WA HLF-FGLH (signal-post) 14 I
F (§3TA (* TANGNA (@9 v (4 FC-GEH 14 FA| (@ANELE R & (@09
TFC-FELH| A7 I

Options :
U+

70819158493, 2

0=

70819158494, 2
||1'J2 Fu?
\ 2
70819158495, ' 2
[.2 2
[0° —u
V2
70819158496, | 2

Question Number : 15 Question Id : 70819117778 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an a particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

2

70819158497. A2z and 2:3 20

-2
i

70819158498. 2:1:1and 4:

]
]

70819158499, 1:2:4and 1:1:



=4 2. .
70819158500, 1 -2 4and 2:1:1

Question Number : 15 Question Id : 70819117778 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

947 T GIFF CFae @51 45, @1 THATN WF @ o-FM3 @3 @IS e 34 wE|
PrReq ¢xqe @ 37 9@ OFFF 98 MEa 9e uF PR v
S |

Options :

e
"J

70819158497, 4:2: 15F2:1:1

70819158498, 2 1: 1™ 4

I
i

=l
rJ

cAHEFE] -1 :

R

70819158499.

=
3

o I I
70819158500, r4ERE2: 1]

Question Number : 16 Question Id : 70819117779 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :

708191585017, -1 M

70819158502, V19 m

70819158503, U-2 m



70819158504, 1-U m

Question Number : 16 Question Id : 70819117779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xﬂﬁw&"@?(cnﬂ]im, (FHT 4 &7 0.05 m 9TF 0.2111@%53’%@@%%
GPTE 8: 1| FEAIIWET |

Options :
70819158501, 01 M
70819158502, V12 m

70819158503, U-2 m

70819158504, 1-0 m

Question Number : 17 Question Id : 70819117780 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=6011
e AMVAAAAANA

15V
"=40(
c==1ov 08 Ly

o— 1L

Options :

70819158505. 1.33 H and 250 pF



70819158506. 1.33 H and 150 pF

70819158507. 0.8 H and 150 pF

: g :
70819158508, -8 H and 250 uF

Question Number : 17 Question Id : 70819117780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

@5 L-C-R T8¢ =3 4RS! 22q (s T/ 100 rad/s| ISACHIS FCA I A2
fbaw (ryea (arm| FEAHT WA TF [P FEIF TAFFOE (condenser) AT4@ (capacity)
oy 1|

R=60()
VAN
15V
co=1oy  RTH0NE 8y
N
Options :

70819158505, 1-33 H = 250 uF

70819158506, -0 H < 150 uF

70819158507, -8 H =¥ 150 uF

70819158508.

Question Number : 18 Question Id : 70819117781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

i F .5
A diatomic gas, having Cp =;R and Cy =;R, is heated at constant pressure. The ratio
dU:dQ:dW:

Options :

|
I3

70819158509, 2

70819158510.

70819158511.

=]
[F5)

70819158512, 2:

Question Number : 18 Question Id : 70819117781 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘wswaCﬁzﬁwm&s%iWW&%%WW%@&@@%@?E@«WWE
dU:dQ:dWz3:

Options :

|
I3

70819158509, 2

70819158510.

70819158511.

70819158512, 2:7:3

Question Number : 19 Question Id : 70819117782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N, and N, nuclei respectively. Half life
of Xis half of the half life of Y. After three half lives of Y, number of nuclei of both are equal.

The ratio L will be equal to :
Na

Options :

r—*|=,.-.?.

70819158513.

_,._}|,_1'

70819158514. -

70819158515.

70819158516. B8

Question Number : 19 Question Id : 70819117782 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B! COBIE W X o Y 7 Aafes i 7o & N, o N, | X T o, Y 7 S4ga o
Y 7 @ o0 ST e FrE! TS 9@ RS EReE Hedm A g—lﬁ?ﬂqﬁ’é’ﬁ:

b

Options:

r—*|=,,-.?.

70819158513.

-_,_1|,_1'

70819158514.

| oo

70819158515, 1



3
70819158516, 8

Question Number : 20 Question Id : 70819117783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁona[l}-' attracts a pa_rticle placr_-d al 3R from its centre with

-
A"
a force F,. Now a spherical cavity of radius | Y | is made in the sphere (as shown in figure)
) =3

and the force becomes Fz- The value of Fl - l"'2 is :

Options :

70819158517, 1150

70819158518, 0 * 41

70819158519, 26 : 2

25 - 36
70819158520. PR

Question Number : 20 Question Id : 70819117783 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



F, 074 R T4 @51 CoTBT (o103 B9 (O #f1 3R 0 41 <Y T3 Teraeg el
: N (R) :
FAel «fem B myea g, |%‘Wﬂ3’ﬁﬁwﬁiﬁﬁmmi’ﬂww
\ </

“ffqa1el F, 2001 Fy:F, 3T9 29

Options :

41 : 50

70819158517.

70819158518, 0

70819158519, 26 : 2

70819158520, = 0

Physics Section B
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Section type : Online
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Number of Questions : 10
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Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911005

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819117784 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas
R e X Vilue of i

(R=gas constant) is R alue of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819117784 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
4 TATSE A5F9 (insulated) TS 9B 4.0 u 99 4F ARAEF (58 791 (L T 30 m/s

(@97 515 34 AT 2 AT 2T TN A 2, (oRe (oTTE e Sfade 7 ,:‘—R (R= s

FaF), x TTT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819117785 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of thisdropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819117785 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

512 Ae® AZA 7% AT Greerd Aferons 2 V Rioale wifze 41 t2r) (GeermEs qraes 314
tofegicis g MR Rpic o RS- SN A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819117786 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819117786 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TS (@149 2 H WIEa U FEAT @bl T (A0S AN T4 (T TF SeAGE [ed fan W
V =3tvolt, (TSt second ¢FFE WIR) | A2 t =0 AT [T 4791 I T, (07 4 (WG TS
FEAGE N @A NETT ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819117787 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis __ m/s. (Take g=10 m/ 53]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 24 Question Id : 70819117787 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1 m U7 O ATem qQq T YA AH QI @5 TF CIAF SIS JERA YT A0S IRV
TR F Fe G SRS 50 1 T WA TEES (TR (@9 T
(g=10 m/s? &)

- m/s|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819117788 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as
L W

r1{]' l_El

where, a and f are positive constants. The equilibrium distance between two atoms will be

d

2a \b
— 1|, where a=

xll,;'

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 25 Question Id : 70819117788 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
a5 Fa-srameas 99q Fe-A1E (U), r (Vs “ATeEE 7%) T 79 9,

sl B
U=—r-—-3
rlﬂ 1‘5
d
2a )b
TS, o TF B 75 4T FEF| AT WFWWW[}—EhH’E,a: R
\ 4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819117789 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— / 1 A A
Theelectric field in aregion is given by E = | —E; i+ i Eyjf
e 9] )

% The ratio of flux of reported

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

[Here {, ] and k are unit vectors along x, iy and z-axes respectively]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 26 Question Id : 70819117789 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
{ Y T
: : > (3 A 4 AN ga o =
A S9TS LA (R T T IE E = | —Fyi+— Eq j |E | 02 2 e «F wEeI 45
| 2 J,

(y—2 4 FTGAA)T 0 0.3 W2 F (x— 2 T TR T T & 9P TG @ PAAS
(AeT (P WA WS T A a:h, TCa=_ |

(% 7, I F k T 1, y T 2 T4 0 G (239)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 27 Question Id : 70819117790 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
%108 H.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819117790 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



ab CRF @S (transmitting station) AT 960 m T T34 4 TR A TGS G
256 uF 9 493 @70 (T SeNA A3 ATEEAE, FEAT TA@E T x1078HI
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819117791 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis ___ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819117791 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A5 T (7 @1 9 T 20 cm F 10 cm T A0 €2 TG (FLH W A AT 0
I TEA GRS T cm |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819117792 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as kV?,
The work done when the temperature changes from 100°C to 300°C willbe _____nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819117792 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

b FiHE wreeifes #fFme, O (T B O SRee o kVe qqrd FieT e @fen Twew
100°C T *[@T 300°C 0& Wil 2, Fosifwe W@ @23 nR |

T'E n @ (51F 174 AL IPACE|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819117793 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E, ) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ LI By, @
gives then null deflection at ]2. The value of l_l is E ,wherea=_
7]

Rh J,¢—60 cm—>
P
B': Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819117793 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



<51 A5 i5aa T6s, AB (0761 10 m ) 3 72 44 Rearew E, E, 9% E, 90F @) FRK, 3 3%
TATTS, T (jockey) Wﬁ’{cﬁ’ TR xﬂﬁ'%’j]l T = FART (ZE AT GATSANOES (FI
fpfe a1 o o1am (@R (E,) F SR @R (E,) 13 7ol #41 (2%, K, T4 a4 9% K, 7%

3 cefem ]Z%ﬁmﬂt—w- ST R [ (rETarE | E—lamirq’aa: |
=2

e

|| iy G
/r{ R
E L
o K A I
«20cm—], I
4
€ I I
|
|
Rh JQ(—("}U(]’T'I—)I :
. 4
. I
B< 1m >

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191726
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 20



Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911006
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819117794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819158531, (&)

70819158532, (P)

70819158533, (©)



70819158534, (D)

Question Number : 31 Question Id : 70819117794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

735 IO AANE /Y T 99@TS AN 94 TaR0) I AT 99 T4 (radial distribution
functions) 3 774 TS A 247 ;

3s FHH4 (TR0 ) ATE W5 (7400 27 ;



Options :

70819158531, (&)

70819158532, (P
70819158533,

70819158534.

Question Number : 32 Question Id : 70819117795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

0,°
70819158535.

70819158536, |12

70819158537, 22

Hes®
70819158538,

Question Number : 32 Question Id : 70819117795 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
IR T (SAREE) TS, TS A T AT WG T 2 A :

Options :



5
70819158535.

70819158536, |12

70819158537, D2

He,
70819158538,

Question Number : 33 Question Id : 70819117796 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 i.s x. The value of x is :
[Assume : No cyano complex is formed ; Kﬁ}}(AgCN] =22x10"10 and K, (HCN)=6.2x10 0]

Options:

70819158539, 0-625x10°°

6

70819158540, 1:6 %10

%10 1&

2
-2

70819158541.

i A
70819158542, 1-9% 10

Question Number : 33 Question Id : 70819117796 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

pH=33 994 43 95® AgCN I ¥@@ ' x| x T 24 ;

(4% 7o, R Eha (R Ao T % K (AgCN) =22 %1010 1% K (HCN) =6.2x 10 1]

.‘i}"

Options :



; &)
70819158539, 0-625x10

70819158540, 1-6%107°

P2
I3

70819158541.

\ 5
70819158542, 1-9 % 10

Question Number : 34 Question Id : 70819117797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption 'lis

m

directly proportional to P*. The value of x is :
Options:

70819158543, 1

70819158544, 2€T0

70819158545,

70819158546.

Question Number : 34 Question Id : 70819117797 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 51T m-&%#wmﬁmwwli],pxame T

m

Options :



70819158543, 1

70819158544.

70819158545,

70819158546.

Question Number : 35 Question Id : 70819117798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options :

70819158547, AGvs T

70819158548, AH vs T

70819158549, AG vs P

70819158550.

Question Number : 35 Question Id : 70819117798 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
«fFiea fog 2'a gy afefafay
Options :

70819158547, AG =T A



70819158548, AH T T4

70819158549, AG T P

70819158550, (G~ TAS) T3

Question Number : 36 Question Id : 70819117799 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following equation depicts the oxidizing nature of H,O, ?
Options :

70819158551, KOy +HO, = KIO; +HLO+0,

H o 2
2081915855y, 12+ HaO2 120H ™ — 217 +2H,0 + 0,

t
70819158553, 2 THO,+2HT — 1, +2H,0

& 2
70819158554, Cl2t F20, = 2HA+0,

Question Number : 36 Question Id : 70819117799 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e TR AN H,0, T Tas #3s fbfae a7

Options :
20819158551 KIO, + H,0, — KIO; +H,0+ O,

H o 2
20819158557, 12+ HaO2 120H ™ — 217 +2H,0 + 0,



P
70819158553, 2 THO0p 12HY — 1, +2H,0

& g
70819158554, —2¥ 0z = HAXO,

Question Number : 37 Question Id : 70819117800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B5H is :
Options :
70819158555, All B—H—B angles are of 120"

70819158556. The two B—H—B bonds are not of same length.
70819158557 Terminal B—H bonds have less p-character when compared to bridging bonds.

70819158558, s fragment, BH; , behaves as a Lewis base,

Question Number : 37 Question Id : 70819117800 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B,H, 7 [y w5 Tfas 2'a ¢

Options :

20819158555, 0L B—H—B T34 120° 71

20819158556, B—H—B I T0 47F UTRIT 72|

70819158557, TT% THH S AR B—H I p-5F¥ 1



20819158558, 2 BFT, BH, @ 737 S fZ01a A3 |

Question Number : 38 Question Id : 70819117801 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement II  : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819158559, DBoth Statement I and Statement 1I are true

70819158560. Both Statement I and Statement Il are false

70819158561 Statement | is true but Statement 1l is false

70819158562. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819117801 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TES 451 O T 20 ¢

e 1: «afemse w1F &5 7@ T g CeO, T97@ F4q #14|
& 11: EuSO,d &&ia wa b1 Oy faemae wiewef|

SHATE O F Yo YA, A W AFEEEd oF wE Taans a1 SfEe)

Options :

0819158559, &% | < & 11 7 TG ey |

20819158560, I1% 1 T & 119 &IGE =pTer|



70819158561, & 1 7791 o Tf& 11 wprer |

20819158562, B 1 =PTe1 @ &f& 11 71e

Question Number : 39 Question Id : 70819117802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819158563, V>* and Cr

70819158564, Cr' and Mn**

70819158565, Ni*' and Cu’

1.2+ ~ _ 4
70819158566, [¢~ and Co

Question Number : 39 Question Id : 70819117802 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TH D] (AS AT I0EE AT [T GTF 2T 7
Options :

2 4 —~_ 4
70819158563, vV ¥ Cr

70819158564, Cr* =¥ Mn*"

NiZt+ ®% Cu*?
70819158565.



1.2+ 3 4
70819158566, L& ¢ Co

Question Number : 40 Question Id : 70819117803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [I‘vIn{CNjﬁ]”i and [Fe{{:l\]){-’]3 , respectively are :
Options :

20819158567, @4-sp” and paramagnetic

70819158568 5,!?30’2 and diamagnetic

70819158569, @ 57 and diamagnetic

g S o :
20819158570, 7 4~ and paramagnetic

Question Number : 40 Question Id : 70819117803 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
[Mn(CN)]*~ =1 [Fe(CN)g]> ~ © A9 o FaIE 4Fhe 2'a IS :

Options :
P 3
70819158567, 43P T TE
3 12 s :
70819158568, 5P & T AHFR

i
70819158560, L7 TE SRER

3 2
70819158570, P & T TLEIT



Question Number : 41 Question Id : 70819117804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 : An aIIof_mpo of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photod‘uc-mical smMog.

In the light of the above statements, choose the correct answer from the options given below :
Options :

70819158571. Both Statement | and Statement Il are true
70819158572. Both Statement I and Statement 11 are false

70819158573, Statement 1 is true but Statement 11 is false

70819158574. Statement 1 is false but Statement 1l is true

Question Number : 41 Question Id : 70819117804 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A o1 S i (T
1. e @@ oo SRR G5 SREe A Gh1 Ay TaEael 1|

eI §RRE 9 R [, W55 T O REeed SEIesEnd S edrRes gaal
SIS W4T AT |

e Sfernza fofae, wore fra fasmmea 1 v Tgac g Sfeean)
Options :
70819158571, ¥ | =< & 11 3 Az 7o

20819158572, & 1 IR & 117 1612 =rTer|



20819158573, B 1779 7% ¥fe 11 wprer

20819158574, 3% 1 ¥PTeI 8 Bf& 11 77ey|

Question Number : 42 Question Id : 70819117805 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 1.80 g of an oxygen containing compound (C,H O,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options :

70819158575, 20-33
70819158576, 93.33
70819158577, ©3.53

70819158578, 21.63

Question Number : 42 Question Id : 70819117805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

9% WS 38 171 (C,H,0,) 1.80 g 7 7| 724 797 2.64 ¢ CO, I 1.08 g H,0 Tes =1
CEATTTETT TG e AR 7

Options :

70819158575, 20-33

70819158576, 93.33

70819158577, ©3.53



70819158578, 21.63

Question Number : 43 Question Id : 70819117806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A in the given chemical reaction.

_CH,
. Mo,O
CHQ CI—I% 02 3 -~ 'ﬂ'
~~ 7 773K, 10-20 atm major product
CH,

CH
™~ C.Hz/ ScH

3

Options :

70819158579.

70819158580.

70819158581.

CH;

SR

70819158582.

Question Number : 43 Question Id : 70819117806 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



owa A AiEere A e a1 -

_-CHs
CH, . Mo,0;4 s
- {_H'.; = -
7 7 773K, 10-20 atm. (TEIGFT 5A) (a1 wrwwsy)
N
CH, CH,
Options :

70819158579.

70819158580.

70819158581.

CH;

= OO

70819158582.

Question Number : 44 Question Id : 70819117807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the chemical reaction.

— & > [A] Nal o
(major) dry acetone (major)
NO,
Options :

70819158583.



OCHj I

Cl Cl
.n'"'\ = H —
NO, NO;
OCH; OCH,4
Cl I
A= B =
NO, NO,
70819158584.
OCH; 1
A= B =
Cl £
NO, NO,
70819158585. “
OCHj,4 OCHjy
Cl
A = B =
Cl
70819158586. e D

Question Number : 44 Question Id : 70819117807 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
IR AfEFGTS A o< B B
OCH,
HCl Nal
—_—

[A] — B
(sew) G R (e'-mir}

NO,



Options :

OCH;4 I
Cl Cl
r'*'h = H =

. NO
70819158583, NO, 2
OCH; OCH;,4
Cl I
A= B =
NO, NO,
70819158584.
OCHj, I
A= B=
Cl )
NO, NO,
70819158585. “
OCH,4 OCHj;
)
.III*\. = B =
Cl
70819158586. e Dl

Question Number : 45 Question Id : 70819117808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major product of the following chemical reaction is :

1) HyO*, A
_ 2) SOCI,
CH3CH,CN > 2
3) Pd/BaSO,, H,

Options :



70819158587. L

70819158588, (CHCH,C0),0

70819158589, —HatHCH;

70819158590, “H3CH,CHO

Question Number : 45 Question Id : 70819117808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ferfere o RfSToE g4 Tend 274

1) H;O+, A
_2) 50Cl,
CH3CH,CN = > 2
3) Pd/BaSO,, Hy

Options :
70819158587, aCHCHOH

70819158588, (CHaCH,C0),0

70819158589, “aCHCH;

70819158590, —HaCH,CHO

Question Number : 46 Question Id : 70819117809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following reactions will not form acetaldehyde ?



Options :

Pd(11)/ Cu(I)

CJ{E:::CE{2+IJE I{ﬂj

70819158591.

i CrDE._IIZSD-:}
CH,CH,OH >

70819158592,

i) DIBAL-H
i) H,O

CH,CN
70819158593.

Cu

70819158594, o

Question Number : 46 Question Id : 70819117809 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THA (FRIH] [ATEE @ RIGATCEIEE BeAH A 7

Options :
Pd(II) / Cu(ll
CHEZCHE'FDE { :If { J
70819158591 HO
CH;CH,0H >
70819158592.
i) DIBAL-H
CHLRCN — e
70819158593. i) Hy
Cu
* 73 K

70819158594, )



Question Number : 47 Question Id : 70819117810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NS COOH OH
NO, NO,
A= B = C-
NH, NH,
OH NO,
Options :
70819158595, £+ and B only
70819158596, = O™
70819158597, © and ¢ only

70819158598, B only

Question Number : 47 Question Id : 70819117810 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
tﬁ‘ﬂfﬁ*ﬂﬁ'ﬁ‘éﬁtﬂﬁ’%ﬂ T 6 TE9 e I TeHee «fF W

COOH
O,

A=

NH;,

NO,
Options :
ACHE B WS

70819158595. 2 -

70819158596, & 1<



70819158597, B =¥ C I1d

70819158598, B I¥

Question Number : 48 Question Id : 70819117811 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
P i) Sn/HCI
i) HINO,
iii) Aniline
NO,
5 i) NaBH,
B ii) NaOH
iii) Aniline
NH,
- i) HNO,
) ii) Aniline, HCI
Options:

70819158599, “* only

70819158600, < LY

B only
70819158601. g

70819158602, ‘* and B

Question Number : 48 Question Id : 70819117811 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

werq (ol [fes )/ AfEEa p-afe e’ taeRe R 7
NO,

i) Sn/HCI
if) HNO,
ifi) @felf@e

NO,
i) NaBH,

i) NaOH
iii) @feifer

NH,

i) HNO,
C- = -
ii) @feifer, HCL

Options :

70819158599, A &

70819158600, © &

70819158601, B ™4

70819158602, 4 S¥ B

Question Number : 49 Question Id : 70819117812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which statement is correct ?
Options :

20819158603 Buna-IN is a natural pol}fmer.

70819158604. Buna-Sis a s:a,-*nthefic and linear ﬂ'u:-rmf}setting pnl}-'mr_-r.



70819158605, Neoprene is an addition copolymer used in plastic bucket manufacturing.

20819158606. 5}-’11&10515 of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819117812 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
THICO B &% ?

Options :

70819158603, TV 0T NPT T

- ’:T*]' b4 3 EE 5 ] o @
20819158604, TS X G0 ARTHRAF I A ART A =Ge TECAA

frafam 2'= STF Nt AT AT A TS AT _
20819158605, TSEH XA AT TR FRCAN I TS qEETE T4 7|

20819158606, TS T TRURTS ST SSLE T 2|

Question Number : 50 Question Id : 70819117813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options :

70819158607, ©-1 of galactose and C—4 of glucose

70819158608. C-1 of galactose and C-6 of glucose

708191586009. C-1 of glucose and C-4 of galactose



70819158610, <1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819117813 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ES & WF JF &4 TGS AT [FFL6] BT S136d AL (58 &S AT 7

Options :
70819158607, TR R et ST ATE N8
70819158608, TR ML Se A TR ATE ot

§F'Eq C-1 OIF 9w &9 C4
708191586009.

% Tq C-1 o< 15052 @4 C-6
70819158610.

Chemistry Section B

SectionId: 708191727
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 7081911007



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819117814 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of Na,(CO, in the mixture is . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819117814 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
NaOH, Na,CO, &% fg *iga wefaq bl i 0.4 g, rerafen 7o 392 34 1o HOA

91T AT AT (titrated) 391 3'A, TS e 407 17.5 mL HCl T 406 2'd1 T4 4178
s wrag @ T TF OF T IFawE 1.5 mL AR @@ HCL e 3R e
Na,CO,Sq¥@ien ga | (fabex oy 7o) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819117815 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burstis . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819117815 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
A5 TN BT M2 T 1TRTA 27°C 9 35 psi @ #A@ 3| AWC2 B 40 psi © 0F (4% 24, 3

frwfee 731 7 Swwre baach Rewfs 39, °)C mee ok Swenni 2a_ (Frebed
T HoATS) |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819117816 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol l.‘llhe magnitude of AH,gq for the reaction

S 3 _ .

is __ KJ. (Rounded off to the nearest integer)

[Assume ideal gases and R=8.314 ] mol "1 K 1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819117816 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
RRICAIRE, NH,CN|) T e L3708 oot ffdean g coaaiaome s=om o1 71 T AU T
78 74224 k] mol i

Gl

e 3, . _ \
NH;CNig + 5029 = Nag) + Oy + H2Oy 3aH 307 K (v
e TS |

(4% e, s 7o/ e R=8314 T mol -1 K]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819117817 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 molal aqueous solution of an electrolyte A3B3 is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given K, for (H,0)=0.52 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819117817 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&1 fogeReg AB, 11 ¥tEw GAY 7a 60% WHS| 1 IGAGAT 51AC WAHA SEART T A
K (Feber v weame 341
[ =R, K, (H,0) 3 Aa=0.52 K kg mol ']

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
In basic 11mdiuml{_'r{)42 oxidises .5'2(}32 to form lf_;{}.lz and itself changes into .(_'r({_}] D)y -

The volume of 0.154 M CrOf required to react with 40 mL of 0.25 M 52{')32 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819117818 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

FREH TS 0,2 @ 5,0,2 F TR I 50,2~ 1 3 0w (Ol 01 TS
T $,0,2" 70.25 M40 mL ¥4 070 R et et 2@ 0,154 M (0,2 a9 e

2 _ mL| (Fabe e Awme)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819117819 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T 15 given below :

T slope =—10000 K
log k
1/1" —
The temperature at which the rate constant of the reaction is 10 el ] K.

(Rounded-off to the nearest integer)

[Given : The rate constant of the reaction is 10 ~>s ! at 500 K]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819117819 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

o i s :
aA +bB — cC +dD RT3 AT log k 3 7 wre fr 21 -

T &t = —10000 K
Iug k

i —
I Twors Rfgaca sferas 10 4s 1 @m, mam g K| (F@bow weg Agme)
[ =+ 500 K © R sfaras 10551 |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819117820 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol I while
the electron gain enthalpy of Br is —325.0 k] mol I"Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
) (TR || lk] mol 1,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819117820 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Na) 7 *T Na* N5+ 2ETS SIFNF GqUEH T'A 4958 kJmol ~!, SRS Br 1 TAG'T 92
QA T'5 3250 k] mol ~ 1 | 71 2'5 NaBr 3 #1065 Gl —728.4 k] mol ~1| NaBr SR
Fh R fE TA(-)_ x10"1K mol~1I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819117821 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/ are inert to hydrolysisis
(A) BF; (B) SiCl (€) PC; (D) SF,

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819117821 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

wETe WA TA9E, TEECE W (2Eeed /(e @R e T Aa |
(A) BF, (B) SiCl, (©) PCl (D) SF

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819117822 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following chemical reaction.

CH = CH 1) Red hot Fe tube, 873 K -
= = | TOCduc
' 1 72)Co, HA, AlCT, ‘

The number of spz hybridized carbon atom(s) present in the productis .

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 59 Question Id : 70819117822 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1) 9eite Ge¥ o4 Fe w4, 873K
CH=CH > &S Gl

2) CO, HC, AICI,
GTCHATDBIS AT sp? HFA© F #QAq AAN 2H
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819117823 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the provided information in the following paper chromatogram :

A =]
=Solvent front
Be A
2cm
5cm
Ae : 4
2cm
T [PURN— v
/ -
4 % Base line
Spot

Fig : Paper chromatography for compounds A and B.

the calculated Rir valueof A x1071,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819117823 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

#WE TR qEIE F TS WA AP INEAS

| Twee e
B * M
2cm
5c¢m
A. L
2ecm
e
£ i ERISh
5@ : 7091 A 9= B T 7[@%p I
AIRTH ___ x1071

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
SectionId : 708191728
Section Number : 5
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911008
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819117824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options :
70819158621 If fis onto, then f(n)=n ¥ neN

70819158622, [1s one-one

70819158623, If ¢ is onto, then fog is one-one

70819158624. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819117824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@ZAfg:N— N FATICE f(n+1)=f(n)+f(1) ¥ neN T g RFCT @B F0| (208 o
(! o ey e ?

Options :
70819158621. 7% fSTRIWF, (0% f(n) =n ¥ neN



70819158622, [T

70819158623, % g TWRTTE, (TG fog AT

70819158624, 171/0g CLFF, TG g LFF

Question Number : 62 Question Id : 70819117825 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the Iinesl{z —i)z=(2+ 1)z and '(2 +i)z+ (i- 27— 4i=0, (herei?=~1) be normal

toacircle C.If theline iz+ T+ 1+i=0is tangent to this circle C, then its radius is :
Options :

70819158625, V2

1
70819158626, 2V2

3

r—7

70819158627. 2V

I~

|?51| ’1"‘.

70819158628, ™

Question Number : 62 Question Id : 70819117825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@QTAQ—i)z= Q2+ )7 TFQ+i)z+ (i— Q7 - 4i=0,(F=-1) @A CIH PR

wfemd| Wiz + 2+ 1+ i= 0 (@6 C I S*RC =#{F T, (90 Ja051 % 29 :

Options :



70819158625, V2

1‘H

70819158626, 2¥2
3
70819158627, 2v2

tC.i1| W

70819158628.

Question Number : 63 Question Id : 70819117826 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬂmmMyijmmmMHMMquMyﬂ 2(3k HIH%EF}UEVMMRmeyImR,
15

Options :

2

70819158629.

70819158630.

70819158631, 4

70819158632, U

Question Number : 63 Question Id : 70819117826 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R 7 @4 0@ x 7314, 22— 2(3k — 1)x +8k2 7 > 0 SPICH 734 (valid) TTA0EF ‘K T W49
T129:



Options :

R

70819158629.
70819158630.
70819158631, 4

70819158632, U

Question Number : 64 Question Id : 70819117827 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o o
2n T i 2 . :
0,y= 2 sin™dandz= Y cos"0.sin™ ¢ then :

e n=0 n=0

f0o<h,d s Sl Cos

Options :

70819158633, WV Z=(x 1t y)z

70819158634, YV 1z=(xty)z

70819158635, “Y tyztzx=2

70819158636, “VZ =4

Question Number : 64 Question Id : 70819117827 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o0 oo o
- m ; 2n " s I - g
qm 0 < B, d<o ., x= :3“__‘:05 U,y= l_ SN HqF z = lcosznﬂ. sin2d,, TO0F
o n={) n=( n=(

Options :



70819158633, WV Z=(x 1t y)z
70819158634, ¥ Hz=(xty)z

70819158635, Y tyztzx=2

70819158636, “VZ =4

Question Number : 65 Question Id : 70819117828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If Rolle’s theorem holds for the function f{x)=x"~ax?+bx -4, xe[1, 2] with |— | =
then ordered pair (a, b) is equal to:

Options :

70819158637. 0

70819158638, > &)

70819158639. L

(=5 —8
70819158640.

Question Number : 65 Question Id : 70819117828 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. AN
W flx) =23 ~ax?+bx -4, xc[1,2] T f l ;. =0 FEIGE 778 (Rolle's) o4 45, (977
] 3
(a, b) ThIE @AH FAWEZT



Options :
70819158637. (- 8)

70819158638, > %)

70819158639. e

(—5 —8§
70819158640.

Question Number : 66 Question Id : 70819117829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

' n
1 b1
1 E ... - —
lim |14 - n is equal to :
n— n-
\ P
Options :

70819158641, 0

B3| =

70819158642.

70819158643. ©

70819158644, 1

Question Number : 66 Question Id : 70819117829 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



_,.
Sy

Options :

70819158641, 0

B3| =

70819158642.

i
70819158643, ©

70819158644, !

Question Number : 67 Question Id : 70819117830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

di is:

Jainl]_ain 20 (sin®0 + sin?0 + sinZ0) V2sin®0 + 3sinZ0 + 6
1 — cos20

(where c is a constant of integration)

Options :
..l 3

— |9 2sin®0 — 3sin*0 E)sinzl]}z F ¢

70819158645, 18

3

i [9 Ecnsﬁl] 3c054l] E‘a«t:u."m‘j‘l]-‘E - C
70819158646, 18 .

: 3
_i ['l'l 18sin”0 + 9sin*0 l@inﬁl]}?— F ¢
70819158647, 18



: 3
_i {11 18cos20 + 9cos?o chsﬁl]-‘?- F e
70819158648, 18 - '

Question Number : 67 Question Id : 70819117830 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ginf.sin 20 sinﬁl] [ sin'ill [ sinzl] 2sin4l] | 35111211 F 6 )
J ( N d0 SFFGR T 2T ;

1 - cos20

(T'T ¢ G5 TgFE F9T)
Options :

1 3

— [9 2sin®0 — 3sin*0 fmsinzl]-‘?— F C
70819158645, 15 :

1 3

— [9 2c0s®0 — 3cos’o 6c052l]-‘2 FC
70819158646, 18 :

1 3

— [11 18sin”0 + 9sin* 0 l%irmﬁl]]z o
70819158647, 18 '

: 3
_i {11 18cos20 + 9cos?o chsﬁl]-‘?- F e
70819158648, 18 - '

Question Number : 68 Question Id : 70819117831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
3
The value of szell J::Lr , where [t] denotes the greatest integer = t, is :

=1

Options :



'el 1

70819158649, 2

1
70819158650, -¢

2T |

70819158651, -¢

e+ 1
70819158652, de

Question Number : 68 Question Id : 70819117831 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
[l%hwh,waupﬂ%éaw&mwrﬁLﬂ@ﬁmﬁﬁwﬁﬁﬁ:
-1
Options:
e+ 1

70819158649, 2

-
70819158650, -¢

R |

70819158651, ¢

e + 1
70819158652, 3e

Question Number : 69 Question Id : 70819117832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

xz 4x+y+8

, then this curve also passes through the point :
x=-2

Options :

70819158653. (4, 5)

70819158654. 2:3)

70819158655. ® 4)

70819158656, (4 4)

Question Number : 69 Question Id : 70819117832 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T <51 TB A T A T RACT G (3, y) © B ol eqerel ¥ 41 tyt8 oy

x—2

0% IEHE A9 (2 @4 O @ [ 7T ;

Options:

70819158653. (4 3)

70819158654. 2:3)

(5 4)

70819158655.

70819158656, (4 4)

Question Number : 70 Question Id : 70819117833 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :
Options:

70819158657, (X 47+ (y +2)*=16

. 32
70819158658, (¥ ~2)" T (¥

Y
70819158659, (¥ ~4)° 1 (¥

70819158660, (¥ 2=+ (y—2

Question Number : 70 Question Id : 70819117833 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x—y+1=0 @IEES (3, 5) From afelas < gah 29 ¢
Options:
70819158657 (¥ 47y +2)7=16

o2 e
70819158658, (¥ ~2)"H(y—4)7=4

[

4)2=8

A2
70819158659, (¥ ~4)~ T (¥

70819158660, (¥ ~2)=+(y—2

Question Number : 71 Question Id : 70819117834 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A tangent is drawn to the parahola y3=6x which is porpendicular to the line 2x 4 y=1.
Which of the following points does NOT lie on it ?

Options :

2
70819158661. 03]

70819158662, (& 0)

70819158663, (> 4)

(4, 5)
70819158664.

Question Number : 71 Question Id : 70819117834 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
y?=6x TAGET Gl ZPFEE 20+ y=1 999 AT 7| (T(W T (L T WA AT
efed ?

Options:

o
70819158661. 9.2

70819158662, & 0)

70819158663, (> 4)

(4, 5)
70819158664.

Question Number : 72 Question Id : 70819117835 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



. . " 3 2

- ol

If the curves, & | yl_ =1 and ? | ”E = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819158665, @ Tb=ctd

70819158666, @ b=c—d

c+d
a+ b

ab =
70819158667.

70819158668, @ C¢=btd

Question Number : 72 Question Id : 70819117835 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 7 2 2
w X o X 1
L3 l’l_: 1 % — J?: 1 T8 7578 *=A3 90° (TS I I, (I0F T @D
d i)
T e 7
Options:

70819158665, @ Tb=ctd

70819158666, @ b=c—d

c+d
+ b

ab =
70819158667. £

70819158668, @ ¢=b+d

Question Number : 73 Question Id : 70819117836 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satist'}-' the equations
[+m-n=0and I>+m2-n2=0. Then the value of sinta + cos?a is :

Options :

®|w

708191586609.

70819158670.

ra| =

70819158671.

| 03

70819158672.

Question Number : 73 Question Id : 70819117836 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AR (@A TNFE [+ m—n =0 9F P+ m? JJE:UW@'%W (ST (FUH 59 (F9 «
7' (@, sinfa+costa TAMETT ;

Options :

®|w

70819158669.

70819158670.

ha| =

70819158671.



k.
70819158672, 4

Question Number : 74 Question Id : 70819117837 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

- Gt WG L

2 T
Options :
x_¥ | 2
70819158673, 2 4 3
x _ ¥ | 2
70819158674, 4 3
x_ ¥ | T 2
70819158675, 3 4 3
- | T 2
70819158676, 2 4 3

Question Number : 74 Question Id : 70819117837 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x-1_y+1 _z-1

{U,LZ]%ﬁFﬁFﬁrﬁﬁﬁz:j (IO =77 (214 ARTOE TR T ;

Options :

W | R
s
¥

70819158673. -

70819158674.



x _¥ L. & 2

3 4 3
x_ ¥ 1. = 2
70819158675, 3 4 3
-9 | T 2
70819158676, 3 4 3

Question Number : 75 Question Id : 70819117838 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. X 1
When a missile is fired from a ship, the probability that itis intercepted is 3 and the probability

;S p
that the missile hits the target, given that it is not intercepted, is 1 [f three missiles are fired
independently from the ship, then the probability that all three hit the target, is :

Options :

i
70819158677, 27

0o |

70819158678.

| W

70819158679.

EaY

70819158680.

Question Number : 75 Question Id : 70819117838 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

G2 TG * G5T RO ORI T A GEWEﬁ?gﬁﬁﬁﬁ#%F-§6W$0ﬁmﬁﬁﬁﬂﬁiﬁﬁﬁﬂﬁﬁ@

csﬁawaﬂ@ﬁa'i| T TG @7 (Gl CFoe Fegend FoMET 24, (o7 e ceaem
TR (% F4 TGAD 27 ;
Options :

1
70819158677, 27

oo |

70819158678.

00| W

70819158679.

i | 02

70819158680.

Question Number : 76 Question Id : 70819117839 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax® + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819158681, 20

70819158682, 94

~] _.
N|’_'

70819158683.



5
70819158684, 216

Question Number : 76 Question Id : 70819117839 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

451 #mfS oot 7@ms ax2 + b + c=0 9IS FAFITHER F2MAT a, b oF ¢ 01T 9'A| (907
T GRS ANFIIGR T T <9 A9 2T

Options :

70819158681, 20

70819158682, 54

70819158683, /2

70819158684, 216

Question Number : 77 Question Id : 70819117840 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

All possible values of 6 [0, 27| for which sin 20 + tan 26 > 0 lie in :

Options :

i - '-, f ?l‘u '-,

0, = | U |m =]

) 5

70819158685. = k by

( 3 (ar 3r) (3 111

0, — ul;,— L_JiT,—
70819158686, « &/ 2 4/ L2 6 )



'r ) A 7\
i~ ® 3w &
70819158687_l 2) |2 .1J < | 6 J
-.(] ar T 3 ¢ iy Gy o
70819158688, e ) Yl Ve

Question Number : 77 Question Id : 70819117840 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
0 < [0, 2] T T T4 AT, sin 20 + tan 20 > 0 TAAFI! 7% EALF 0 9 FGAAD 2T

Options :
b E\] . |fFr F’r_’.r\'|

70819158685, - 2/ 2 )

-ll, [] E\.| l.-’z 3_T|'x 5 fﬁ E\
70819158686, 4/ 2" 4 ) TR

(0o (@ Z)o(=2)
70819158687, * =/ 2 4 6 )

(. ) v 3w B o OO A

i 4) |*? TJ & _J . |? N

70819158688.

Question Number : 78 Question Id : 70819117841 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819158689, 24



70819158690, U

70819158691, 2©

70819158692, +°

Question Number : 78 Question Id : 70819117841 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

xyz=24 FAFIHE FLYS GergF o AW (x, y, z) T AL 2T

Options:

70819158689, 24

70819158690, 30

70819158691.

70819158692, +°

Question Number : 79 Question Id : 70819117842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man's height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45". Then the time taken (in seconds) by the boat from B to reach the base of the
tower is :

Options :

70819158693, 10



—
70819158694, 10(¥3 + 1)

70819158695. 103

70819158696, 10(¥3 — 1)

Question Number : 79 Question Id : 70819117842 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T TZ @5 T A 1 R IEE (@ I WS FAFE S (A @67 T A T oM
FELHE (417 TS I R TeREed 539 (e (73 e 1&eerd #fa (197 30° (TR[28+d Swer I
fi) TG 20 (e T FELHA PHA AT O S AR (FT G A T BT ATF), TS
I+ @51 &% B ATATS e (@19 45° | B 99 41 38§ A16TS MGG Y ((RFGS) A
Options :

70819158693, 10

"
70819158694, 1083 + 1)

70819158695, 103

70819158696, 10V3 — 1)

Question Number : 80 Question Id : 70819117843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement A — (B — A) is equivalent to :
Options :

70819158697, * — (A — B)



70819158698, 2+ = (A v B)

70819158699, * —7 (A A B)

70819158700, * 7 (A < B)

Question Number : 80 Question Id : 70819117843 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A — (B — A) SfEGR uger SfEn 379
Options :

70819158697, * 7 (A —= B)

70819158698, * — (A v B)

70819158699, & — (A A B)

70819158700, -+ 7 (A < B)
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Section Id : 708191729
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10

Number of Questions to be attempted : 5



Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

20

Yes

1
7081911009

Yes

Question Number : 81 Question Id : 70819117844 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0 tan'fg] 'r‘
\ 2/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

a

w, then 13(a®+b?) is equal to

Question Number : 81 Question Id : 70819117844 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
: e
(
(0 tan';]|
M A= Y (1 + A) (I~ A) 1{

tanlf ” \‘ 0

2
I
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

b

d

]ﬂ, 198 13(a2+ b?) T+ 2'9



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819117845 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
. s

.
Let A=y x |, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.
z

LA

If A2=I3, then the value of x> l'ﬂ ro s
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 82 Question Id : 70819117845 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

=
(]

491 T A=

= e
(]

x|, ¥ x, y, z TWI AW TT xty+z > 0 IF xyz=2
¥
MW A2=L, O PP+ 2T

(]
=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 83 Question Id : 70819117846 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If the system of equations
kx+y+2z=
Ix—y—2z=2

2x—2y—-4z=3

has infinitely many solutions, then kisequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819117846 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

aw  kx Y
3x—y

2x —2y—4z=3,

HAGA ARG AT HLAF A qF, (HBkFMH 37

[
(&
Il

b3
-

Il
[

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819117847 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,1if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819117847 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Tl SRIAE G T WF HLANAT 3 5 09 oy W, (W2 1,2, 3, 4, 5@ o @@ 100
oF 1000 T EHS P WRJMEZT__ |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819117848 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Al, Az, A3, ... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of AM I If the length of Al is 12 cm, then the smallest value of n for

which area of A is less thanone,is .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819117848 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@EA A, Ay A, ... (T TS MGG 02130, A T2 O, A, T T
Ordia W 241 AW A T O 12 om W, (908 n s W I AW A T I 1 90F W F,
e i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819117849 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2x+1/~3x + 2|4 ?+x-2,xc Ris
not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819117849 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



f(x)=[2x+1|-3}x+2[+[x2+ x~ 2, x ¢ R FAAD TeFAT (ACIRANE & Rowgq 7w 2'q

|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819117850 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

; ()
extrema at x=-1and x=1. If lim fi =1,then5-f(2)isequalto .
—0 ¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819117850 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
4@ T f(x) 45 x T 6 TG IH AW TG 107 A 1 9F 1= - 1 TF x=1 T TZAOR 539 T

MRl AW lim 'ﬂ—};‘l =1, @W5- Q)M T
-0 x

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 88 Question Id : 70819117851 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819117851 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

smeWcosineWEﬁ?W%@?%@@ﬁﬁW. W‘jﬁ’m WWWE@?W

TP AWYE (3 MF| EWALTTI_ |
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819117852 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (/3 ) kx A ki 43 =0 and

3 x y — 4l J3) k =0 is a conic, whose ecoentricity 18 ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819117852 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T (V3)ke + ky — 443 =0 T V3 x — y - 4(3) k = 0 T3 TR QAR TR 12
0P T, (O0F (1% *109q IFHeI 29 |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819117853 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

-3

— A M A = F.Y A — A A M

let a=i+2j-k b=i-jand ¢ =i - j— k be three given vectors. If r isa
— — — — - = - =

vector such thatr x a = c x aandr- b =0, then r- a is equalto .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819117853 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@TAa=i+2j-kb=i-jTFc=i- ] ke0HEE MW r a7 9H @37
s, r ¥ a=c X a 9¥ r- b=0 %g 1 a W’HQ’H__ e i

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



